1) The table shows the number of gold medals won by the United 5tates Olympic team

at the Summer Olympics from 1968 through 2008.

Year

Number of Medals

1068

1972

1976

1984

1988

1092

1996

2000

2004

2008

45

43

H

B

6

37

44

38

36

36

a. Make a scatter plot of the data.

b. Interpret the scatter plot of the data based on the shape

of the distribution.
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c. Is it possible to predict the number of gold medals won in
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2) The table shows the number of people that attended a family reunion each year.

Yoar 1 2

3

5

B

7

Attendees JERIE] 120

128

1348

135

140

145

a. Construct a scatter plot of the data. Then draw a line

that best represents the data.
b. Write an equation for the line of best fit.

¢. Use the equation to make a conjecture about the

number of people that might attend the reunion in the

fifteenth year.
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3) The table and scatter show the membership for a fitness center in the years 2003-2010.

Years Since 2002 2| 3 4 5 6 7 J 8
Membership Q 150 125 200 | 175 300 | 250} 350 450
A) Write an equation for the line of best fit. SHOW WORK v 400
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B) Use your equation to make a conjecture about how many
members the fitness center will have in 20187
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C) Interpret the slope and y-intercept of the equation.
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4) The table and scatter plot show the membership for a savings club in the years 2005-2012,

YearsSince 2004 | 1 | 2 | 3 | 4 | 5 | 6 | T | 8
Membership 120 | 100|110 | 100 | 90 | 75 | 85 | 65
A) Write an equation for the line of best fit. SHOW WORK 180
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B) Use your equation to make a conjecture about how many 20
members the savings will have in 20207
0

C) Interpret the slope and y-intercept of the equation.
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5) Ninety people in a store were asked whether they liked jeans or khakis and whether they liked T-shirts or
tank tops. Qut of 25 people that liked khakis, 15 liked T-shirts. There were 55 customers that liked T-shirts.
A) Construct a two-way table summarizing the data.
B) Find and interpret the relative frequencies of people in the survey by columns.

A) B)
T-Shirts | Tank Tops | Total T-Shirts | Tank Tops

Jeans Jeans

Khakis l '5 ﬂ S_ Khakis % x—;o W
Total % 5 3 Q_ Total




